g SRR ] €558
e Jé . (PAG6)

JeE A Jé e (PAGS)
FEA: THEBR(NBR)

O M HE: TIBI(NBR)

B2 . IP67

BRI, -40~100° , 4HEY 120°

I R i e i
PG7 PG7 4~7 12 9
PG9 PG9 5~8 16 9

PG11 PG11 6~10 18 9

PG13.5 PG13.5 7~12 20 9

PG16 PG16 8 ~14 22 10
PG21 PG21 13~18 27 10
PG25 PG25 16~-21 29 10
PG29 PG29 18~25 35 13.5
PG36 PG36 24~32 47.5 20
PG42 PG42 31~41 54 19
PG48 PG48 35~45 58 22
PM12 M12x1.5 3~6 12 13.5
PM16 M16x1.5 4~8 16 8.5
PM18 M18x1.5 5~10 18 8.5
PM20 M20x1.5 6~11 20 9

PM22 M22x1.5 8~13 22 10.5




&Rk
PR B

B TSR (NBR) H H N
O R EflE: T IERE(NBR) |
B2 . IP67 _'

WESIR . -40~100° , JEAT 120° ! a.
PTM12 M12x1.5 3~6 12 5.5
PTM16 M16x1.5 4~8 16 7
PTM18 M18x1.5 5~10 18 7
PTM20 M20x1.5 6~11 20 7.5
PTM22 M22x1.5 8~13 22 8




